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Is China the boogeyman ? EHPE?

Did China steal jobs from the US?

Part 6: China’s size made the adjustment to its increasing exports difficult
China is more than 10X larger than any successful low cost exporting country since WWII.
That size made China’s impact more abrupt than gradual which made the transition
difficult. More could have been done to ease the transition.
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and its export growth accelerated, the US

lost another 4.5 million manufacturing jobs. As we explained in Parts 1 & 2 of this article series, automation
causes more job losses than trade. But it also makes sense that China’s size had an impact as well.
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The US could have done more to smooth the transition

As jobs in some sectors are lost, whether due to automation or
trade, the best thing to help people make the transition is to
have a healthy economy, a solid educational system, and
competitive costs relative to things like healthcare. Frankly,
the US could do better in many such areas. In the case of a
high impact scenario as presented by China, other supportive
policies may have also been warranted, such as more generous
(yet still temporary) unemployment benefits, better and more
targeted retraining programs, and even assistance programs to
help spouses enter the workforce more effectively.
Unfortunately, governments and societies often don’t identify
such trends until they’ve already occurred which is
unfortunately what happened in this case. Reversing the trend
is impossible. But it could have been handled better.
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